Tl s ® |E| n =
F12F—300~600 I . =
H.W.L
\V4
N—913% — N
@\ M10x100 - 2 | novy P [SS400/SUS304
[ MI1OXT00
@ < 3| muesa 2 | SUS304
A— .+ &
P R : J - /@ 4 | evy 1 | sUS304
<:>\\ o _— g “;'; - ]
T\ | = ' B mm @ [ 5| ®MAETL-} 1 | SUS304
\ \ ~ E
|| | m b 0 ~ 2 & B C D E P 6 | Ry 2 | SUS304
@/ i | g N O
e } & O N g |F12F—300 | 300 | 360 | 460 | 500 7 | mxo 1 | sUs304
\ \ (W A
<:> - | O = m | F12F—400 | 400 | 460 | 560 | 600 1 N 2 | cRa.
@/ ] | B i F12F—500 | 500 | 560 | 660 | 700
G o) BSALL ‘ F12F—600 | 600 | 660 | 760 | 800
EOBEOXABECEL LB
C (E&IB) °+7
D (FZ18) DEREEER
F12F—700~1000
H.W.L
\V4
8— 913K —
M10x100 ~
@\ F—NT7VH - § ‘
O 3 *
L ~ 0 B :mm Ef: M6
@/{/ | | i {08 ffﬁ o~ ‘|||]:||E = % B C D F
} - ||:L [
(2r | 1Y - B | F12F—700 | 700 | 800 | 940| 990
/ \ o W = m
| | < F12F—800 | 800 | 900 |1040 [ 1090
| | 3
GY | | b F12F—900 | 900 [1000 | 1140 | 1190
‘ T ¥ BRI I F12F—1000 | 1000 | 1100 | 1240 | 1290
ROBO¥ABEICEL B ‘
D (P18 NNEEREZ
FEEIR
_ ) REE R E TELE - - . % &
- BB, FFU (9 2ARMBBRIETIAFy 788K L g, &= FREE & FL—Y 79y T T e
P fvny7 oy 78, BURERARDEAREOVANERo €Y S B e ﬁﬁ ﬂfsgﬁ & ZA364AA F12F |300~1000
KULERICELTOWENBRAZSZ5 - T, s/T [2020% -
VT B hEELLEKRSH




F12FN—300~600

e

F12FN—700~1000

R8¢

.5

S—@15K
M12x100

600

2—013K
G M10x100
F-W7VH-
4N E 4 O
- %
\
.
| &
Iy
O
/
C (ERi@)

F=WT7YH-

Qoo

R 99 ¢

/'
/

{1
(I

EEETR

- B FFU (W7 ARMBEERET I AFy 78BH) & LET,

C (RAME)

s FL=Y 79y TR, BMBCENBEOLZRETDODVAVWER> THEY

KMUERICELBOENEETBST - T,

2l e o |2 w =
2 =
WL 1| % #% 1 | FFU-74
v . .
— 2 | novy - P 209304 3P— A
N 100 948.6—4.0t
B o SUS304
i N 4 | evy 1 | SUS304
g — B :mm EB:HE _ SUS304
2 — - - - - SO | mftTL—+ 1 PL—9
0 o — 6 | muk 2 | SUS304
- O F12FN—=300 | 300 | 360
o (& 360 7 | EXTL 4 | CRIL
< F12FN—400 | 400 | 460 1
m
= F12FN=500 | 500 | 560
400
—! F12FN—-600 | 600 | 660
FsHAME
RAOBO¥AREICELLE
NHEzEEZ
v H.W.L
e ‘ ~
* 130 E
ﬁ 2
o ‘
i'ﬁt_u @&
K J I —
= 1
A Il B :mm Bl : B
Te) if
N o 8 & B C P
i = F12FN—700 | 700 | 800
ewi [l =
o = il 0 F12FN—800 | 800 | 900
= 40 gm) [|!1] 2
b SRR F12FN—900 | 900 | 1000
e H:
--—— F12FN—1000 [ 1000 | 1100
BSEAAL ‘
BOBOXARECEL LB /
(5%
NHBEzBEZR
RUE R E TEAE - L _ 5 =
Y| FREE @ B FL—=Y77y7 BR | g%
R I e % ZA365AA F12FN[300~1000
s/T [2020% -
VT Y PHELEKRSH




